SCHOOL BASED ASSESSMENT 2024-25
Mid-Term Mathematics Grade 4

School Name:

ANSWER KEYS
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ANSWERS / RUBRICS
Question No: 11
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a)Solve34 kg 28 g — 21 kg 18 g. (5 marks)
C#5)3ae1. 82801 2101 K 1801 S P
34kg28g 3401 828010
— 21kg18 g(2marks) —21(1/’%}{18(1/((/7}2)
13 kg 10 g(3marks) 13f'j’g10f'j(/3)

The capacity of a bucketis 8 £ 493 m¢ and a tub is 29 £ 289 m<. Find total capacity of tub and bucket? (5 marks)

(A8)eg/pd P F G e /0280 /205 S om 4493 P8 S5V

Capacity of bucket = 8 £ 493 m? lef/d/éj@=8ﬁ493ﬂ(}
Capacity of tub = 29 £ 289 m? P =00 2289 /¢
Total capacity =8 £ 493 m¢ + 29 ¢ 289 m?¢ (2 marks) F F=8493 /3129 2289 J(+2)

=37 ¢ 782 mf (3 marks) ;’)7%782}&(/3)

Question No: 12

a ).Convert 5 years 8 months into months. (5 marks)

A5/ o S Ul 8L s

5 years 8 months=5 years + 8 months ( 1 mark) SJV8¥=5JL’+8¥(/’/1)

=( 5 x 12 ) months + 8 months (1 mark) =(5x 12 )é‘j_"—|—8é‘;_"(/.”;1)
=60 months + 8 months (2 marks) :60¥+8§(ﬁ‘;2)

=68 months (1 mark) :68&'(/1)

Find the perimeter of the shaded part of the given figure.(5 marks)

(A9) o bt s e L FE G



https://pecassessment.com/admin/pilot_items/pilot_view_combine/16510
https://pecassessment.com/admin/pilot_items/pilot_view_combine/19068

Rubrics: _J/.u
To find a Perimeter of a shaded part,we shall add the lengths of é;/ﬁfu/lfju(ézrﬁfiﬂiii_/(ﬁ”}wb/&/b L

all its sides. :
perimeter of the shaded part = 4+6+4+6 (2 marks) ,bbllfﬁjl;,l/=4+6+44:6(/:fz)
=20 cm (3 marks) =204 (#3)

Question No: 13

a ) Construct an angle of 120°. (5 Marks)

(#5)-le2106120°

Ondrawing aray AB (1 mark) (/1)4$/CW“AB
On marking a point at 120° (2 marks) (/2)42.@0(5’3(1200
On correct completion of angle and labeling. (2 marks) (/1}2)“;/&:{”“);"&”)&”0

Write the name of the given figure and describe its number of vertices, edges and surfaces.(5 marks)

A5)- Ll dSus RS el L G

Name:Cone (2 marks) b=bsf (ﬁfz)
No. of vertices:1 (1 mark) AdSur=1  (£1)
No. of edges:1 (1 mark) sSSut =1 (£1)

No. of faces:2 (1 mark) ,;,JJU}’:z (/1)


https://pecassessment.com/admin/pilot_items/pilot_view_combine/16594



